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And let us fine the buyer - IPYRR ORIPN

Overview

The &3 understood from SX&mw that if the seller of the nXnwv 7R3 is present, we
punish the seller and the sale is voided.! The X3 asks let us fine the buyer; why are
we fining the seller. 5010 explains what fine should we give the buyer (and why
that is advantageous).
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The explanation of the question 177 7°01p1) is that the n1? should eat in 299290
an amount corresponding to the value of the w"v»n, but the sale should not be
voided —

N1B0IN comments:
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Now according to the view of »''9 the X713 correctly asks, let us fine the buyer
that he should eat 7722 in 2°7017, so that the w"v» my», which were in the seller’s
possession will go out to become 3" through the r2 redeeming them by eating 1731
in 2017 -
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However according to the view of the X''2%1 that we cannot be 7711 on something
which is not 1mwn2, what is the X3 asking, npY99 71983993, what advantage is there in

fining the mp? -
= 99997 22 MOIRN INYN NPIYN DIPIN 171919 NOIN NIIND 991910 DNIPY AV NAITIN

On the contrary it is better to fine the 92y (by nullifying the sale) in order to
remove the 712°K of w"yn from his possession, rather than to fine the np to eat

1722 in 22917, but the 21998 of w"yn N will remain in the seller’s possession -
- 59513 912057 BYYWINY YIN DYIN NNYI 199NN XYY MYNH 995

! See previous X1 71"7 ‘01N,

2 mooin is seemingly negating some other 037 to be placed on the P17 (perhaps the 5 according to the X"1™).

3 In a previous '010 on 7°pnn 7"7 R, there is a dispute whether one can be w"vn my» 97 which are not 1M1 on
other myn (or food). The 7°kn "7 maintains you can (because it is a M21, for the one who is holding the w"y»n myn),
while the X"21 maintains that you cannot since it is 1MW 1R, "y,

4 We are obligating the np1? to set aside money and say that this money should be 9717 the "y money which the 11
had, so the 22w 722 w"v Myn become 19211 (which the 1717 can do according to »"1 [see footnote # 2]). The > will
then spend this money in 2°2w17.In this scenario the npY? is being fined (for buying a xnw 772 with w"va nyn), and
there is no concern that the 121 may eat the 22w yan w"vin myn, since the np12 is 99nn them.

5 Indeed we may have punished the buyer (for buying a ax»u a2 with w"va nMyn) by having him eat >5w1a 77212,
however we have not addressed the issue of the 121 spending the w'"v» money 2°2w17? 11, since they cannot be
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Meaning the money whose 2"y n172 was not transferred, so there is the concern
that perhaps the 2212 will spend this w"yn nw» out of 2°9w=, for the 121 assumes

that these monies were 99101, by the n»> who is eating 2°%w17°2 17333! However if o'n7 11
ampn? this problem will be resolved for everyone will know that the n?1? has the w"yn mvn.

N1D0IN answers:
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And one can say; that according to the X"2°1 this is the s'&7723 question, ‘and let

us fine the 1P that he should go to the seller’s house -
$PINY INY INY SN IY INYITP XD 7752 PYITP 1Y MYND 1Y 9NRN

And say to the 70m; “the holy w"v» money which is in your possession, their
7w7R should b e transferred on these monies™’, and then the ¥'"v» money which
was by the 101 will be 39919 XX according to everyone.

Summary
When we assumed that we should fine the 1% to be 2°%2w17°2 773310 7218, we also need

to be assured that the money which is 7917 7°2 become 1711 (through the 77310 DR
according to n"9, or) by (according to the 8"2°7) the n?12 physically going to the 101
and being %11 the money there.

Thinking it over

Why can we not say that according to the X"2», the n1? cannot be 55 the nmvn
w"yn only when the 751 fled, for then the w"v my» is not fpY?n Mwn2; however if
the 7211 is here and he will follow the ruling of the oo, perhaps the w'"vn myn
which he is holding is merely a 11775 on behalf of the n,” so the 1> can be o
these w"vn nvn for (since they are a N7pPo) they are considered 1M w12 and there is
no need for the M~ to go to the 7217 N2 to be H9nn the w"vn myn?!®

redeemed by the n? (according to the R"2™, for they are not n127 Mwa2). However, the 191 may well assume that
they were 92nnn, especially since he knows that the npY? is 17330 991X, so he will spend it 2°5u% yin.

¢ The n1> will obviously need to spend his money in 27w1.

7 [Since the sale was illegal (and we say ampn? a7 171m).]

8 See 7N won TR # 13,

2
TosfosInEnglish.com



